Slopes and Equations of Spe?éne /

@ a) Graph the line containing (4, -3) and (-2, -3).
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b) Find the slope using the slope formula.
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b) Find the slope using the slope formula.
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The equation of a horizontal line willbe y = the y — intercept
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Sketch the graph of each line. State the slope and two points on your line
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Write the equation of the line.
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14. line has no slope and contains the origin
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, Integration: Geometry !
Parallel and Perpendicular Lines

Write an equation in slope-intercept form of the line that
passes through the given point and is parallel to the graph of
each equation.
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